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In 1977, there were 12,168,450 U.S. households with
cable television. In 1997, there were 65,929,420 U.S.
households with cable television.

Which represents the average rate of change per year

in households with cable television during that time
period?

2,688,048.5 households/year
B. 5,376,097.0 households/year
C. 53,760970. households/year

D. 65,320,997.5 households/year



2 The table shows the relationship between x, the age of a girl and y, her average weight.

Which equation could represent a linear relationship of the data in the table between the

age and average weight? 4
}9"’? L
=5x+20 _p :
A Age (x) | Weight in pounds (v)
3 335
=5y + 20 -
B x=>» 10 70

C »y=7x+35 m: 7/\103—5’)’7_{:6

D x="7y+35 /0_')



Distance (m)

. The path of an object
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Find the average rate of change over the first 6 seconds.

A
B
C
D

10m
1.67 m/s
0.6 s/m
6s



Distance (m)

~ The path of an object.
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Find the Average Rate of Change between 12 and 15 seconds?

A 42m/s
B 1m/s
C -42m/s

D -1m/s



The path of an object.
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What happens to the object after 11 seconds?

O 0O W >»

Stops

Speed Changes at a constant rate.
Slowing Down

Returns to starting position.



6 The motion of a particle is defined according to the following graph. At which point is the
Average Rate of Change the Greatest.
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Which point would indicate a positive instantaneous rate of change?

o



Which point would indicate a zero instantaneous rate of change?

10



Which point would indicate a negative instantaneous rate of change?

11
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10 Find the average rate of change of h(t) = /2t

for 2<t<8
A7 N Qm Fa

(anl) D 7 (Q)Y
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Pedro throws a ball upward at a rate of 20 meters per
second from an initial height of 2 meters. The height of
the ball above the ground can be approximated by the
equation , »="5*+20:+2 where t represents the amount
of time, in seconds, since the ball has been released.

Which is the maximum height that the ball reaches?

A 5 meters

h=-5(¢1 ¢ +§l> F A +20
b ‘9(#%1327{ 2]

B 6 meters

C 20 meters
Q22 metehy

13



> +5x
200

where x is the car’s speed in kilometers per hour and y is the braking distance in
meters.

1 2 The braking distance of Samir’s car can be described by the equation  y =

Which represents how fast a car is traveling when the braking distance is 75 meters?

A 30 kilometers per hour (QUD) N, 5= )‘1"‘- 6XM
0

B 50 kilometers per hour {

C 55 kilometers per hour / { o oD = y‘\v +€ x

D 120 kilometers per hour n
\V +Gy~14000=0

R ;,-z/b”"{“'

N

14
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The rate of fuel consumption, in gallons per minute, recorded during an airplane
flight is given by a function R of time .
R(r)

_ T0 i Rir)

8 (minutes) | (gallons per minute)
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Use data from the table to find the Average Rate of Change from 30 minutes to 70

minutes.

T A— (3 530) (2o, 68)
Q2 Y—

C '8/7 gallons per minute/minute
'7/8 gallons per minute/minute

4@(= 63‘-3°=§_§_7

20-30 ¥y
: B

15



14 Find the instantaneous rate of change of the function

y =x“when x =3 3.1 ?‘/ 91 Iﬁq/

A9

CcC 3
D 1

16
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TRC
Eiaa the slope of the te@ of

f(x)=2x"-4x at x=-1

A_10 by o

C O
D -10

17



16 An arrow is fired and follows the path defined
by h(t) = -5t* +40t +15

When does the arrow start to fall?

A 0 seconds - - SC"" Y)L

B 2 seconds
4 seconds

D 8 seconds ZQQ

18



17 An arrow is fi d follows the path defined
by @ :5t* +40t +15

When does the arrow hit

A -0.35 seconds Q .
@.35 seco@ qd’ ﬁ:f /I“‘ I
C 4 seconds _\1

D 8 seconds

19



18 An arrow is fired and follows the path defined
by h(t) = -5t* +40t +15

With what speed does the arrow hit the ground?
\
A -43.5m/s - o)
— O%T
B O0m/s ‘3 # 0.0¢ O

C -36.7m/s

—

D -27.6m/s

20
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